Prénom :............

(19)

100 x 2 = 200
100 x 5 = 500
6 x 100 = 600
4 x 100 = 400

200 x 3 = 600 300 x 8 =2 400
800 x 4 = 3 200 400 x 7 =2 800
6 x 700 =4 200 9 x 500 = 4 500
4 x 900 = 3 600 8 x 600 = 4 800

e Décompose et calcule suivant les exemples :
700x4=100x7x4=100x 28 =2 800

500x7=100x5x7=100x35=3 500
4x800=4x8x100=32x100=3200
700x7=100x7x7=100x 49 =4 900
3x600=3x6x100=18x100=1 800

6x400=6x4x100=24x100=2400
?2x800=9x8x100=72x100=7200
6x300=6x3x100=18x100=1 800
200x92=100x9x92=100x81=8100
400x8=100x4x8=100x32=3200

e Décompose et calcule suivant I'exemple :
907 x 6 = (900 x 6) + (0x 6) +(7x6)=5400+ 0 + 42 =5 442
635x7 =(600x7)+ (30x7)+ (5x7)=4200+ 210+ 35 =4 445
430x 9 =(400x9) + (30x9)+ (0x9)=3 600+ 2/0+0=3870
372x5=(300x5)+ (7/0x 5) + (2x5)=1500+350+10=1 860
609 x8=(600x8)+ (0x8)+(9x8)=4800+0+72=4872
258 x4 =(200x 4) + (60 x 4) + (8 x 4) =800 + 200 + 32 =1 032

e Pose en colonnes et calcule :

784 x 6 =4704

728 4
X 6
4704

4087 x 7 = 28 609
4%0'8 7
X 7
28609

58 034 x 5 =290 170
*58'0%3 4

X 5
290170

851 x9 =7 659

‘851
X 9
7659

7 620 x 4 = 30 480
27620
X 4
30480
25607 x2 =51 214
"2'54'07

X 2
51214

6453 x8 =151 624

78 631 x 7 =550 417

487 x 5 =2 435 608 x 8 = 4 864
‘4%8 7 6°0 8
X 5 X 8
2435 4864

9 408 x 3 = 28 224

¢*4%5 3 '94%08
X 8 X 3
51624 28224

87 090 x 6 = 522 540

¢7%8% 3 1 ‘87°090
X 7 X &)
550417 522540



